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SAMPLE PAPER (2023-24)   
BUSINESS STUDIES 

åयावसाियक अÚययन 
CLASS: XI 

     CODE: 900 
[Hindi and English Medium] 

 
[Time allowed: 3 Hours]     [Maximum Marks: 80] 
 
ROLL NO.   ……………………. 
 

 कृपया सुिनǔƱत करɅ Ǒक इस Ĥư पğ मɅ 09 पƵृ तथा 34 Ĥư मǑुġत हɇ।  

Please make sure that the question paper consists of 09 pages and 34 questions 
printed in it. 

 Ĥư पğ मɅ Ǒदए गए कोड नंबर को छाğ Ʈारा उƣर पǔुèतका के पहले पƵृ पर िलखा जाना चाǑहए।  

The code number on the right side of question paper should be written by the 
candidate on the front page of the answer sheet. 

 Ǒकसी Ĥư का उƣर देने से पहले उसका Đमांक िलखना होगा।  

Before answering a question, must write its serial number. 

 एक Ĥư के सभी भागɉ को एक साथ हल करɅ। 
Attempt all parts of a question together. 

 अपनी उƣर पǔुèतका मɅ खाली पÛना/पÛने न छोड़Ʌ।  

Don’t leave blank page/pages in your answer book. 

 उƣर पुǔèतका के अितǐरƠ अÛय कोई शीट नहȣं दȣ जाएगी। अतः आवæयकतानुसार हȣ िलखɅ व 

िलखे उƣर को न काटɅ।  

Except the answer booklet, no extra sheet will be provided. Write to the point and 
do not strike the written answer.  

 परȣ¢ाथȸ अपना रोल नंबर Ĥư पğ पर अवæय िलखɅ।  

Candidates must write their roll numbers on the question paper. 

 कृपया Ĥưɉ का उƣर देने से पहले ये सुिनǔƱत कर लɅ Ǒक Ĥư पğ पूण[ व सहȣ है, परȣ¢ा के 

उपराÛत इस संबंध मɅ कोई भी दावा èवीकार नहȣं Ǒकया जाएगा। 

Before answering the questions, ensure that you have been supplied the correct and 
the complete question paper. No complaint in this regard, will be entertained after 
examination.  
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सामाÛय िनदȶश: 
1. इस Ĥư पğ मɅ 34 Ĥư हɇ। 
2. Ĥ×येक Ĥư के सामने अंक Ǒदए गए हɇ। 
3. उƣर संǔ¢Ư और सटȣक होने चाǑहए। 
4. 3 अकं वाले Ĥưɉ के उƣर लगभग 50 से 75 शÞदɉ मɅ िलखɅ।  

5. 4 अकं वाले Ĥưɉ के उƣर लगभग 150 शÞदɉ मɅ िलखɅ। 
6. 6 अकंɉ वाल ेĤưɉ के उƣर लगभग 200 शÞदɉ मɅ िलखɅ। 
7. Ĥưɉ के सभी भागɉ को एक साथ हल करɅ। 
8. Ĥư 23, 24, 29,30,33,34 मɅ आंतǐरक ǒवकãप उपलÞध है। 

 
General Instructions: 

1. This question paper contains 34 questions. 
2. Marks are indicated against each question. 
3. Answers should be brief and to the point. 
4. Answers to the questions carrying 3 marks may be from 50 to 75 words. 
5. Answers to the questions carrying 4 marks may be about 150 words. 
6. Answers to the questions carrying 6 marks may be about 200 words. 
7. Attempt all parts of the questions together. 
8. An internal choice is available in Que 23, 24, 29,30,33,34. 
 

1. एक Ǒहंद ूअǒवभाǔजत पाǐरवाǐरक åयवसाय मɅ 'कता[' का दािय×व…….रहता है:     (1) 

(ए) सीिमत 

(बी) असीिमत 

(सी) संयुƠ 

(डȣ) आम संपǒƣ के मूãय तक सीिमत 
The liability of ‘Karta’ in a Hindu Undivided Family business remains:   

(A)   Limited 
(B)   Unlimited 
(C)   Joint 
(D)   Limited up to the value of common property 
 

2. िनàन मɅ से Ǒकस Ĥकार का åयापारȣ सामाÛयतः दकुान पर केवल माल के 

नमूने हȣ रखता है?                     (1) 

(ए) फुटकर ǒवĐेता 
(बी) थोक åयापारȣ 
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(सी) िनमा[ता 
(डȣ) एजɅट 

Which type of trader generally keeps only samples of goods at the shop?  
(A)   Retailer 
(B)   Wholesaler 
(C)   Manufacturer 
(D)   Agent 

 
3. कंपनी के नाम के अनुमोदन के िलए Ĥाथ[ना पğ Ǒकसको भेजा जाता है?         (1) 

(ए) सेबी (SEBI) 

(बी) कंपनी रǔजèĚार 

(सी) भारत सरकार  

(डȣ) उस राÏय कȧ सरकार को ǔजसमɅ कंपनी ǔèथत है। 

The application for approval of the company’s name is sent to:     
(A)   SEBI 
(B)   Registrar of Companies 
(C)   Govt. of India 
(D)   Govt.  of that State in which the company is situated 

 
4. लघु åयवसाय उ×पÛन करने मɅ सहायक होता है:            (1) 

(ए) रोजगार के अवसर 

(बी) संतुिलत ¢ेğीय ǒवकास 

(सी) ए और बी दोनɉ 
(डȣ) ħƴाचार 

Small business is helpful in generating:        
(A)   Employment opportunities   
(B)   Balanced regional growth 
(C)   Both A and B 
(D)   Corruption 

 
5. एक ĤǑĐया, काय[ǒविध या नवाचार को िनàन मɅ से Ǒकसके Ʈारा सुरǔ¢त रखा 

 जा सकता है?                   (1) 

(ए) कॉपीराइट  

(बी) Ěेडमाक[   
(सी) पेटɅट  
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(डȣ) åयावसाियक साख  
To protect a process, method or innovation, one gets:     

(A)   Copyright 
(B)   Trademark  
(C)   Patents 
(D)   Goodwill 

 
6. åयापाǐरक साख िनàन मɅ से Ǒकसका एक उदाहरण है?      (1) 

(ए) अãपकालीन ǒवƣ 

(बी) दȣघ[कालीन ǒवƣ 

(सी) मÚयकालीन ǒवƣ 

(डȣ) साव[जिनक जमा 
Trade credit is an example of:         

(A)   Short term finance 
(B)   Long term finance 
(C)   Medium term finance 
(D)   Public deposits 

 
7. ऋणपğधारȣ (ǑडबɅचरधारक) को उनके Ĥितफल के Ǿप मɅ िमलता है:     (1) 

(ए) लाभाशं 

(बी) Þयाज 

(सी) संपǒƣ 

(डȣ) बɇक Ĥितभूितयां 
The debenture holders get their return in form of:      

(A)   Dividend 
(B)   Interest 
(C)   Assets  
(D)   Bank Securities 

 
8. लघु उƭोगɉ कȧ दशा मɅ, संयंğ और मशीनरȣ मɅ िनवेश कȧ अिधकतम सीमा Èया  

हो सकती है?               (1) 

(ए) ₹ 1 करोड़ 

(बी) ₹ 5 करोड़ 

(सी) ₹ 50 करोड़ 

(डȣ) ₹ 10 करोड़ 
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In case of Small scale enterprises, what can be the maximum limit of investment 
in plant and machinery?          

(A)   ₹1 Crore  
(B)   ₹5 Crore 
(C)   ₹50 Crore 
(D)   ₹10 Crore  

 
9. सहȣ ǒवकãप का चयन कȧǔजए:                  (1)                   

कथन 1: Ĥितधाǐरत आय ǒवƣ का सबसे Ǒकफायती İोत है। 

कथन 2: अिधक Ĥितधाǐरत आय का अथ[ है शेयरधारकɉ को अिधक लाभांश। 

(ए) कथन 1 स×य है लेǑकन कथन 2 अस×य है। 

(बी) दोनɉ कथन अस×य हɇ। 

(सी) दोनɉ कथन स×य हɇ लǑेकन एक दसूरे के साथ कोई संबंध नहȣं है। 

(डȣ) दोनɉ कथन स×य हɇ और कथन 1 कथन 2 से िनçकष[ िनकाला गया है।   
Choose the correct option:          
Statement 1: Retained earnings are the most economical source of finance. 
Statement 2: More retained earning means higher dividend to shareholders. 

(A)   Statement 1 is true but statement 2 is false. 
(B)   Both the statements are false. 
(C)   Both the statements are true but have no relation with each other. 
(D)   Both the statements are true and statement 2 has been concluded from            
           Statement 1. 

           
10. नीचे Ǒदए गए ǒवकãपɉ मɅ से सहȣ ǒवकãप का चयन कȧǔजए:          (1) 

कथन 1: ऋण पğ और पवूा[िधकार अशं दोनɉ भागयुƠ Ĥकार के हो सकते हɇ।  

कथन 2: ऋण पğ और पवूा[िधकार अशं दोनɉ पǐरवत[नीय हो सकते हɇ। 

(ए) कथन I स×य है लेǑकन कथन 2 अस×य है।  

(बी) कथन 1 अस×य है लǑेकन कथन 2 स×य है।  

(सी) दोनɉ कथन स×य हɇ। 

(डȣ) दोनɉ कथन अस×य हɇ। 
Choose the correct option from the options given below:    
Statement 1: Debentures as well as preference shares can be participating. 
 Statement 2: Debentures as well as Preference Shares can be convertible. 

(A)   Statement 1 is true but Statement 2 is false. 
(B)   Statement 1 is false but Statement 2 is true. 
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(C)   Both the statements are true. 
(D)   Both the statements are false. 

 
11.  ई-åयवसाय के िलए आवæयक ǑकÛहȣं दो संसाधनɉ के नाम िलǔखए।               (1) 

 List any two essential resources required for e-business. 
 

12.  आिथ[क ǑĐया के दो उदाहरण दȣǔजए।           (1) 

 Give two examples of economic activity. 
 

13.  C2C åयवसाय मɅ शािमल दो प¢ɉ के नाम िलǔखए।                    (1) 

 Name the two parties involved in C2C business. 
 

14.  एक बɇǑकंग åयवसाय मɅ सांझेदारɉ कȧ अिधकतम सÉंया ………...…………..  

 हो सकती है।            (1) 

 In a banking business, maximum number of partners can be ……... 
 

15.  सरकारȣ कàपनी कȧ दशा मɅ चुकता पूंजी का कम से कम ………… % सरकार के पास होना    

 आवæयक है।                (1) 

 A government company is a company with at least ……. % paid up capital  
 Owned by Government. 
 

16.  लाइसɅसर Ʈारा लाइसɅिसंग के अंतग[त ĤाƯ पाǐरĮिमक को ……….… के Ǿप मɅ जाना  

 जाता है।            (1) 

 The remuneration received by the licensor under licensing is known as……… 
 

17.  एम/ए (M/A) का पूरा नाम ………………. है।                     (1) 

 Full form of M/A is ……………….  
 

18.  नौकरȣ कȧ सुर¢ा देना åयवसाय कȧ अपने िनवेशकɉ के Ĥित एक सामाǔजक ǔजàमेदारȣ है।       

 (स×य/ अस×य)               (1) 

 Offering job security is a social responsibility of business towards its investors.   
 (True/ False)   
 

19.  फैÈस इलÈेĚॉिनक दरूसंचार सेवा नहȣं है। (स×य/ अस×य)              (1) 

 Fax is not a type of electronic telecom service.  (True/False) 
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20.  रेलवे एक Ĥकार का साव[जिनक िनगम है। (स×य/ अस×य)      (1) 

 Railway is a type of Statutory Corporation. (True/False) 
 

21.  थोक ǒवĐेताओं Ʈारा फुटकर ǒवĐेताओं को Ĥदान कȧ जाने वाली ǑकÛहȣ तीन सेवाओं का  

 उãलेख कȧǔजए।                (3) 

 Mention the services provided by the wholesalers to retailers. 
 

22.  “अतंरा[ƶीय åयापार Ǒकसी भी अथ[åयवèथा कȧ रȣढ़ कȧ हÔडȣ होता है।”- उपरोƠ कथन के  

   संदभ[ मɅ अÛतरा[ƶीय åयापार के लाभɉ का उãलेख कȧǔजए।          (3) 

“International trade is the backbone of any economy.”- Mention advantages  
  of  the international trade in the light of above statement. 
 

23.  ई-कॉमस[ के ǑकÛहȣं छः लाभɉ को सूचीबƨ कȧǔजए ।           (3) 

 List any six benefits of e-commerce 
अथवा  
  OR 

 ई-åयवसाय एवं पारंपǐरक åयवसाय मɅ अतंर िलखɅ। 

 Differentiate e-business from the traditional business. 
 

24.  åयावसाियक जोǔखम के िनàनिलǔखत कारणɉ कȧ åयाÉया कȧǔजए।         (3) 

(ए)  मानवीय कारण 

(बी)  आिथ[क कारण   

(सी) Ĥाकृितक कारण 

Explain the following causes of business risk.       
(A)   Human causes 

(B)   Economic causes   
(C)   Natural causes 

अथवा  
  OR 

 पेशा Èया है? इसकȧ ǒवशषेताओं का उãलेख कȧǔजए। 

 What is a profession? Mention its features. 
 

25.  "एमएसएमई (MSME) के िलए राह आसान नहȣं है" भारत मɅ लघु उƭोगɉ कȧ Ĥमुख समèयाओं 
 कȧ åयाÉया कȧǔजए। .                  (4) 

 “The road for MSME is not an easy way.” Explain the main problems faced  
   by small scale industries in India. 
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26.  नीचे Ǒदए गए åयवसाय के सामाǔजक उƣरदािय×वɉ का उãलेख कȧǔजए:          (4) 

(ए) िनवेशकɉ के Ĥित  

(बी) कम[चाǐरयɉ के Ĥित 

Mention the social responsibilities of business:      
(A)   Towards investors 
(B)   Towards employees 

 
 

27.  ǒविभÛन Ĥकार के उƭोगɉ के वगȸकरण को उदाहरण सǑहत समझाइए।         (4) 

 Explain with example the various types of Industries and their classification. 
 

28.  घरेलू और अंतरा[ƶीय åयापार मɅ अंतर बताइए।                          (4) 

 Compare and contrast the domestic trade with the international trade.  
 

29.  भारत मɅ साव[जिनक ¢ेğ कȧ बदलती भूिमका पर एक ǒवèततृ ǑटÜपणी िलǔखए।    (4) 
 Write a detailed note on changing role of public sector in India. 

अथवा  
  OR 

  ǒवभागीय उपĐमɉ कȧ ǑकÛहȣं चार सीमाओं कȧ åयाÉया कȧǔजए।         

List and elaborate any four limitations of departmental undertakings. 

 
30.   एक वाǔणǔÏयक बɇक मɅ आमतौर पर खोले जाने वाले ǒविभÛन Ĥकार के खातɉ  

  के नाम िलǔखए और ǑकÛहȣं दो का वण[न कȧǔजए।         (4) 

 Name various types of accounts generally opened in a Commercial bank  
 and explain any two. 

अथवा  
  OR 

  बीमा के िनàनिलǔखत िसƨातंɉ का उदाहरण सǑहत वण[न कȧǔजए: 
(ए) अिधकार समप[ण का िसƨातं 

(बी) िनकटतम कारण का िसÚदांत 
        With the help of examples, describe the following principles of insurance: 

(A) Principle of Subrogation 
(B) Principle of Proximate Cause 

 
31. अशंɉ और ऋण पğɉ को पǐरभाǒषत कȧǔजए और उनमे अंतर िलǔखए।              (6) 

Define and distinguish between shares and debentures. 
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32.  Ǒकस Ĥलेख को कंपनी का चाट[र कहा जाता है? ǒवèतार से वण[न कȧǔजए।    (6) 

Which document is known as the charter of the company? Describe in detail. 
 

33.  बहुसÉंयक दकुानɉ से आप Èया समझते हɇ?  इनकȧ ǒवशेषताओं कȧ ǒववेचना कȧǔजए।    (6) 

What do you understand by multiple shops? Elaborate features of such shops. 
अथवा  
  OR 

 ǒवभागीय भंडार के लाभɉ और सीमाओं कȧ åयाÉया कȧǔजए। 

 Explain the advantages and limitations of a departmental store. 
 

34.  “एक åयǒƠ का िनयंğण ǒवƳ मɅ सव[ĮƵे है, यǑद वह åयǒƠ इतना बड़ा हो Ǒक वह Ĥ×येक  

  काय[ का Ĥबंध èवयं कर सके”- इस कथन पर अपने ǒवचार åयƠ कȧǔजए।    (6) 

       “One man control is the best in the world if that man is big enough to manage 
         the whole show.” Explain. 

अथवा  
  OR 

  संयुƠ पूंजी कंपनी के संदभ[ मɅ िनàनिलǔखत मɅ से ǑकÛहȣं तीन कȧ स¢ेंप मɅ  åयाÉया करɅ:  
(ए)   अǒवǔÍछÛन उƣरािधकार 

(बी)  सीिमत दािय×व 

(सी)  कृǒğम åयǒƠ 

(डȣ)   पथृक अǔèत×व 

    Briefly explain any three of the following terms in context of a Joint Stock  
    Company: 

(A)   Perpetual Succession 
(B)   Limited liability 
(C)   Artificial person 
(D)   Separate entity 
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